Open, Close, Live

LIFT&SLIDE XC WOOD

440 Kg locks and specific extensions 00.2
440 Kg hook locks and specific extensions 00.5
Hooks 00.8
Counterplate for fastening of hook striker 00.9
Gas spring kit and sensors 00.10
330 kg carriages kit, 440 kg supplementary carriages kit, carriages connecting rod 00.11
250 kg XC S-Line carriages kit, 400 kg XC S-Line supplementary carriages kit,

XC carriages connecting rod 00.13
Pin holder profile for lateral point 00.15
Anti-burglar plate kit, handle fastening plate 00.16
Locking profiles for lateral point and extension 00.17
Pin holder profile for coaxial sashes and extensions 00.18
Locking profile kit with 3 hooks for coaxial sashes and specific extension 00.20
Locking pins 00.22
Strikers 00.23
Embedded upper guide 22x22 00.24
Caps kit for embedded upper guide 22x22 00.25
Damper kit with closing brake 00.28
Damper kit with opening brake 00.30
Central point kit Uni-V mini 00.32

MADE IN ITALY




L&S XC - Wood

Sliding systems

440 Kg locks and specific extensions

Article Ref. Description Material Use Fastening
Choose the lock according to the jamb
Locks. 440 K o 10 mm handle hub with radius corner, | Forend: aluminium |width and the sliding sash height. Backsets 4,5x45 mm screws
' 9 hole for European cylinder housing. Rod: steel available: 27,5 and 37,5 mm in 5 different| 4 For Imago+ use 4,5x40 mm
heights (see the table).
) Forend: aluminium . - . . 4,5x45 mm screws
Lock extension 9 Rod: steel It gives the possibility to add a locking point. * For Imago* use 4,5x40 mm
. ) . - 4,5x45 mm screws
Covering profile 0 Aluminium It covers the milling. * For Imago+ use 4,5x40 mm
R === Screw hole position
GR 1° 2° 3° 4° 5° 6° 7° 8°
1 17 | 100,5 | 208,5 | 480,5 | 550,5 | 658,5
X 2 17 | 100,5 | 208,5 | 480,5 | 950,5 | 1058,5
3 17 | 100,5 | 208,5 | 808,5 | 1080,5 | 1188,5 | 1550,5 | 1658,5
4 17 | 100,5 | 208,5 | 808,5 | 1080,5 | 1188,5 | 1700,5 | 1808,5
o 5 17 | 100,5 | 208,5 | 808,5 | 1080,5 | 1188,5 | 2100,5 | 2208,5
S — % 'y
X 2 1z =
X 3 08
o) = =
(e]
_ H [t}
i A o = OO
S - &
X, L~ =
© Ti=:7 == >€ =~
[eo)
= ~
© <L
& g #
. (3] (2]
(o2}
N 20T
N
©
< x
o
N ©
: I X
D
<_ ©
=z ~- D
=
U ¥y U ] y
GR5 GR4 GR3 GR2 GR1
00.2 Rev.22.09.2020 - Ver. 04



L&S XC - Wood Sliding systems

440 Kg locks and specific extensions

\
'

/

'

\
J—7, L
= T 7S
LoIcX, / T
x N "_'_’_’T\ _______ B
7 of b : ) Millings for external
ON illings for externa
|
@B— D | /\\ pu|| handle
— [ e
N 12 455 1 ars |
|<—’|' |
ol |
| e
v i
- ¥y v l,,,,@?),\,,,.,,, | B N
o &g <
= e ||l .
X, o | NF by |
B et
e b & |1 =7
v G e | [
Yy =T 1|1 | @
Jde= U A | = 37,5
X < / 1 127 g 155
VL T ks 5. 13 mm depth
E] I //
S [N I I N R
@ |
’ 4.5¢45
1L © [Dtrsiiscreses —
V) ‘ -
Zxx- e § Lock millings, backset 27,5
J x 1
2Ll 5 asas ||\ 77 _
(&)
Millings for external
pull handle
45x5" f ] [
[etrtrmreiess — | 28
Py T | [
2\ 8 )
//77@7 D | 7 N~
@ /% » ° 45x45f | S | =
¥y __ ¥ I N | _ 1A o §'~,
|
=] % | LN
o g T | |
. y % _.L._._._.\\; ...... L
5 =t h
< g " =l £ 27,5
0 % 355 13 mm depth
& |
Je X 1T " . v 1)
L ° pa2Xas ., | Locking points position and rasability
7 % - Gr| SRH =< =< A B c
%@— % (min - max) |without extension | with extension (optional) | (min - max)
= X
GLLND S| 4545 1| 810-1200 425 325 450 - 788-1283
- T Dtz —|
@ © : 2 | 1175-1800 625 520 850 - 1193-1883
§ X j: | | 3| 1775-2150 375 270 980 | 1450 1793-2233
° s, | 7| 4 | 19252400 475 370 980 | 1600 | 19432483
v L f 8= \ 5 | 2325-2750 425 320 980 | 2000 2343-2833
:K Lo

= S— N o <] L]

Ver. 04 - Rev.22.09.2020 m 00.3



L&S XC - Wood Sliding systems

440 Kg locks and specific extensions

Ref. Atide | GR Ari‘r']c'gnflg‘:e’ inAéfflfrggfﬁu r SRHO Handle height Lock height
1 G04027.01.01 G04027.01.02 810-1200 4001410 1096
2 G04027.02.01 G04027.02.02 1175-1800 4001410 1696
EZEL‘L?%?% 3 G04027.03.01 G04027.03.02 1775-2150 100011010 2046
4 G04027.04.01 G04027.04.02 1925-2400 100011010 229
o 5 G04027.05.01 G04027.05.02 23252750 100011010 2646
1 G04037.01.01 GO4037.01.02 810-1200 400/410 1096
2 G04037.02.01 G04037.02.02 1175-1800 400/410 1696
;Zgi;‘g?gs 3 G04037.03.01 G04037.03.02 1775-2150 100011010 2046
4 G04037.04.01 GO4037.04.02 1925-2400 100011010 229
5 G04037.05.01 G04037.05.02 23252750 100011010 2646

O With upper guide 22x22 cod. G01002.XX.XX, the SRH application field will be reduced up to 10 mm.

Ref Article Ar.tlcle. code, ‘ Article code, Length
in Silver in Electrocolour

0 Extension with locking point (G04401.01.01 (G04401.01.02 500

0 Covering profile G04401.02.01 G04401.02.02 1000

00.4 m Rev.22.09.2020 - Ver. 04



L&S XC - Wood

Sliding systems

440 Kg hook locks and specific extensions

Article Ref. Description Material Use Fastening
. . ) " Choose the lock according to the jamb
© coral ot dut i ) PO ST i e g s Tt 45 s
' g housiny P y Hooké' steel Backsets available: 27,5 and 37,5 mm| ¥ For Imago+ use 4,5x40 mm
9- ' in 3 different heights (see the table).
Forend: aluminium . L .
Lock extension Q Rod: steel It gives the possibility to add a locking 4,5x45 mm screws
: point. ¥ For Imago+ use 4,5x40 mm
Hooks: steel
. ) " - 4,5x45 mm screws
Covering profile Q Aluminium It covers the milling. X For Imago* use 4,5x40 mm
I == Screw hole position
GR 1° 2° 3° 4° 5° 6° 7° 8°
X 17 | 100,5 | 304,5 | 808,5 | 1080,5 | 1274,5 | 1458,5 |1658,5
17 | 100,5 | 304,5 | 808,5 | 1080,5 | 1274,5 | 1608,5 |1808,5
S T 17 | 100,5 | 304,5 | 808,5 | 1080,5 | 1274,5 | 2008,5 | 2208,5
X
_ - -
. IE ﬁ; 2
X ., o
S W S o &
i | ] 3 N
o S
© g S
i s
T € 2
Z1T N %} ~
© © «©
P & P 9
N N N
o I
ZNT= 21T T
i [@ \ 275 L@
U U U
GR5 GR4 GR3

Ver. 07 - Rev.22.09.2020

00.5




L&S XC - Wood Sliding systems

440 Kg hook locks and specific extensions

|
i
i

S I S - 2[X
20 . 7\‘/ a5us% | 20 7‘/ e |
‘ 2| ' NN |
1. 1 g ] o 1 = 9
A — il R i g v
= . = /
by %E 1545% ||| 7 K] i 1505 * |
& 2. — % A -
13 s %
BES 1[N o | 1=t | (2] LEef
R 1 | X | X

E
L s< |
(]
<
(-]
==
<

L 20 . 7 r D45x45’ i L 20 77 L 4.5x45 ’_
bt w0 b ©
| = l i =
| f_': ’—L__—F ﬂf; ; | f_': H
i = /L | =
= X f
% AR e,
KE _ o
[=) prisegn o @
20 "‘\" 4515 / s
l):zimzz(nma‘s— /
st Ik o e o
S D3 AlLL HI S
GE iy Ik H
SlE / !\
i * ([ 2
4 ﬂo 45057 | % 2
o E
£] m [21]
[ce}
g y 7
o X x
45x45 | / < 4.5x45 |
7
15u5® il
20 A I | Dotz — T x
7 o 0 L L o4t
| w| 2 / 2
5§ o B
I e F T L. : - T
+ : —- A7 | ~ ~
KR sEm EN el
o b o =Sl E ! % ssus® ||l |
& = ENIRE! 5 R 2, / 0
© 4505% { ) R
bt : = 45045 ¥
T b . : i —=1
B === T
s — 07— s Eesd
Locking points position and rasability
GR SRH @< A B C D E*
(min - max) | without extension | with extension (optional) (min - max)
Without sianal 3 | 1775-2150 375 270 970 1354 1789,5+2137,5 384 C-B
: S :terlr? 4 | 1925-2400 475 370 970 1504 1939,5+2387,5 534 C-B
Y 5 | 2325-2750 425 320 970 1904 2339,5+2737,5 934 C-B
With sianal 3 | 1775-2150 375 270 970 1354 1789,6+2137,5 384 C-B
s ste?n 4 | 1925-2400 475 370 970 1504 1939,5+2387,5 534 C-B
Y 5 | 2325-2750 425 320 970 1904 2339,5+2737,5 934 C-B
* For rasability check instructions 290322.14 .81 **In case of optional hook use, pre-drill for the screw. *** |n case of a high rail use, the distance is 10 mm higher.

00.6 m Rev.22.09.2020 - Ver. 07



L&S XC - Wood Sliding systems

440 Kg hook locks and specific extensions

e - - "
N Lock millings, backset 37,5 | Lock millings, backset 27,5
I N [N B
! I \ ! [I
! | \ | | \
: ! | Millings for external o Millings for external
o pull handle o pull handle
| | . o | B _
I | | ! |
8,375, 17 81,215, 17 i 28
8 A N 3 e L
= i Fzp | = a0 ,
: @ o - : D | ~
e “ A% | -
¥ ,,L,,,Z\?A,},!, N B | _ v v v iy [ I I B B 77777 I 3
N7 ! b A I . /
SIE N ~ 2 [ ° | ~
I <X ~ D! | 7 ~
) %}2: : ) : 6}2/9 : 1 {ég
= | P - 1 2 ! |
gal j\7>0: E _ L 5 74@, 0: E B IR S N L
= é% IR , = %ﬁ | 2| |z
L= T 455 13 mm depth - - —: T 355 13 mm depth
|
: ! // 1 : : //
LA A Lo
e _
| [
I o
| | ‘l
JI
I
I._,_ —_
—Fp :
[T | :
Rlg |l 22 25
| |
1 - _l
| | /‘
|
I : //
B L IV N
- Article code, Article code, . .
Ref. Article GR in Silver in Electrocolour SRH ¢ Handle height Lock height
Lock 440 K 3 G03927.03.01 (03927.03.02 1775-2150 1000/1010 2046
BZ(C:kset 27% 4 (G03927.04.01 G03927.04.02 1925-2400 1000/1010 229
o ' 5 (G03927.05.01 (03927.05.02 2325-2750 1000/1010 2646
Lock 440 K 3 (G03937.03.01 G03937.03.02 1775-2150 1000/1010 2046
Bzzkset 37% 4 G03937.04.01 G03937.04.02 1925-2400 1000/1010 2296
' 5 G03937.05.01 G03937.05.02 2325-2750 1000/1010 2646
O With upper guide 22x22 cod. G01002.XX.XX, the SRH application field will be reduced up to 10 mm.
Ref Article Ar_ticle_ code, _ Article code, Length
in Silver in Electrocolour
Q Extension with locking point G04600.01.01 G04600.01.02 500
9 Covering profile (G04401.02.01 G04401.02.02 1000

Ver. 07 - Rev.22.09.2020 m 00.7



L&S XC - Wood Sliding systems

Hooks

Article Ref.

Description Material

Element with steel hook that
can be placed to the lock in the
defined position.

Use Fastening

Additional hook 0 To add a locking point to the lock

Steel and Using the elastic plug
Element with steel K supplied, on suitable holes to
” - . S zama It ensures the microventilation allowing to pull the lock
Additional hook with 9 microventilation hook that can be close the sash to the frame and blockina it in
microventilation position placed to the lock in the defined that position 9
position.

525 18 34 5,25 ‘ 18
EhiE: <IBE

&

(0001 9483

Microventilation hook application Hook application Hook application to the striker
(not possible with signal system) with standard striker (with signal system)

155

Note. The millings for the strikers housing are described in the dedicated page.

Ref. Description Article
@ | Additional hook G05008.00.00
0 Additional hook with microventilation position G05010.00.00

00.8

m Rev.22.09.2020 -



L&S XC - Wood Sliding systems

Counterplate for fastening of hook striker

Article Description Use Fastening
Counterplate for Plate with threaded holes for hook strikers | Apply from outside the frame and fasten to the hook striker by . -

) : . . By M5 screws included in kit.
fastening of hook. fastening on frame strikers, Imago+. two through holes with M5 screws.

17 4 ] § . -
o (1] |
AN a

T~ |
I
[

M5x40

/ " \\\§\ R
!" \\

|
|
|
|
] |

& | | ! \\

v |
|
|

l
|

10
90
!lHHlIHIHIHHIHHIHIHUIHHI]
IIIHIIIIHIIHIIHIIIHIIIIHIHIH]
40
AR
/

=

[$)]
134,2

90

&\ M5x40
T g

|:\ 20 ,/
| ,/
o il
/i [| 1t M5x40
S
| ‘.
| !
o | ,’
3|8 | /
i ’/
i ,I
| ]
S/if ! a M5x40
~ \
. - —
NI

Article Article code

Counterplate for fastening of hook (G06204.01.01

Ver. 03 - Rev.22.09.2020 m 00.9




L&S XC - Wood

Sliding systems

Gas spring kit and sensors

Article Ref. Description

Use

Fastening

Gas cylinder that helps the sash opening
movement (lifting) and reduce the speed
of the handle.

Gas spring kit

Apply in suitable holes into the movable rod
and in the aluminium profile of the lock. Please
use with sashes of weight = 200 Kg.

Screws are provided.
Note. Please assemble the gas spring with
lock in opening position and lying spring.

Magnet and sensor for the control of

Apply the magnet in the suitable hole of the

Sensors @ openin movable rod and the sensor in the hole to To joint
pening. realise the pin holder profile.
Magnet 9 Magnet with clip for lock. grz);;lglbter(zljagnet in the dedicated hole of the With clip
Gas spring installation
Fasten the carriages and the connecting rod to the carriages.
Unlock the carriages and put them in opening position.
Assemble the lock (with gas spring) in opening position.
Place the kit in Identification of Assembly order
specific holes under dedicated holes
(1] (2] (3] the handle (1)
26 il
n B Movable lever
Fastening
= Pre-hole @3,7 device
—  —m)
Hole @6,2 - —=
d i ealing ring
6M .
T % Gas cylinder
II__J
Q
»
f & Elastic plug
I | @lﬁ
Installation of reed sensors
Find the point where the Please make a hole @12 mm Please make a hole @12 mm

sensor and the magnet
have to be installed

(aluminium pin holder profile)

(wooden pin holder profile)

J ﬁ'ﬁ,ﬁ‘gﬁ";’,‘gfﬁg‘ Wooden pin holder — |
I o profile
» Hole centre 0 |
indication o
o
[92]
o
Reed sensor Reed sensor
o (3) =
/ Magnet holder | — Magnet holder
Lock with clip with clip
Pin holder - — - -
profile
Ref. Article Article code Ref. Article Article code Colour Ref. Article Article code
- G05006.00.86 Grey )
G kit GMG702.04.00 S + Magnet on cl G05003.00.00
0 as spring ki @ ensor + cap G05006.00.93 Black 9 agnet on clip

00.10

AG B/

Rev.22.09.2020 -




L&S XC - Wood

Sliding systems

330 kg carriages kit, 440 kg supplementary carriages Kkit,
carriages connecting rod

Article Ref. Description Material Use Fastening
Two carriages (front and rear, non-handed) with lift device and lever
and rings.
. ) The connection between the two carriages is provided by the
Carriages kit, 300 kg o through cuttable rod. Screws
The hooking of the connecting rod is guaranteed by locking grubs Steel Sliding sashes of weight <330 Kg | 4,5x35
with milled base to avoid possible loosening. mm
Carriages kit, 300 kg with . . . N
adjustable rear carriage 9 Standard front carriage; rear carriage with +3,5 mm in height.
Two carriages with lift device. Each carriage has to be coupled to a . . Screws
Supp Iemen'tary 9 a carriage of the 330 kg kit (front and rear) through connecting rod Steel Sliding sashes of weight = 330 Kg 4,5x35
carriages kit . and < 440 kg
and locking grubs. mm
Carriages connecting rod e It ensures the connection betwegn a carriage and the other and Steel Cuttable 1 piece Grgbs
transfers the movement of opening/closing. provided
It allows to download the carriage weight from the sash to the snap- Plastic
Bumper / support @ in rail; suitable for aluminium systems where the sash weight in ) 1 for each carriage Snap-in rail
) " \ material
closing position can’t be downloaded to the gaskets.
. Inserted into the carriage milling, it ensures the correct operation of Plastic . Screws
Rod guide 0 ) ) 1 for each sliding sash
connecting rod. material 4x30 mm
Dedicated zamak adapter that prevents the derailing movement Install 2 devi h iral | Screws
Anti-derailed adapter 0 of sliding sash carriages after forces which are orthogonal to the Zamak ns a.. evices on each centra
L S - sash;install 1 blockoneachsidesash | 4x30 mm
sliding axis (e.j. weather conditions).
Note. Level the glass in order to download the weight evenly in correspondence to the carriages.
Note. Please don't distribute the supplementary carriages along the sash but install them coupling the main carriages.
342 260 ‘
o o =
[a] BT [ [ T T 4
o 4 O o o 4 O == o @
e ] =Sy TN
. | y
Z 707 % Z 4
' ! ‘ Fastening grub for ‘ ‘
| | * | carriages cognr?ecting rod , * | |
3 K K- 4 mm allen key K3 X8 3
<~ <~ <~ ~f o YE Y
N
B § =0__1 o e D —
Carriage
in hig|
position
Carriage
in resting
position \ Q X Adjustment screw
D m i
i - 0=, (o @
— A==y $ .
FE=H ] =4 i { =4
00.11

Ver. 02 - Rev.22.09.2020



L&S XC - Wood Sliding systems

330 kg carriages kit, 440 kg supplementary carriages Kkit,
carriages connecting rod

Compatibility Millings for_
carriages housing

LT~
~ -

57 S

47 o

22

%ﬁ@ i@

[l - ‘\ 7777777

o 0 = -y olle
TN 7" Rail or threshold . 7 A/40M

L=LB-644 } 150 .

Supplementary carriage positioning

Note. For the connection of the
supplementary carriages,
please cut a 80 mm rod.

L=LB-1243

Application fields

Carriages
connecting rod

440 Kg

HEDIg (with supplementary carriages)

Min. SW Max. SW Min. SW Max. SW
1000 1644 2083
1400 2044 2483
1800 645 2444 1245 2883
2700 3344 3783
Ref. Description Code Length Ref. Description Code
o Carriages kit, 330 kg G04104.00.00 e Bumper - support G01437.00.86
Carriages kit, 330 kg, .
(2) with adiustable rear carriage G04114.00.00 (6] Rod guide G05102.00.00
© | Supplementary carriages kit (440 kg) | G04108.00.00 ; (7} Anti-derailed device 601611.02.00
(G04601.00.01 1000
(4] Carriage connecting rod G04601.00.02 1400
g ) G04601.00.03 1800
(G04601.00.04 2700

00.12 m Rev.22.09.2020 - Ver. 02




L&S XC - Wood Sliding systems

250 kg XC S-Line carriages kit, 400 kg XC S-Line
supplementary carriages kit, XC carriages connecting rod

Article Ref. Description Material Use Fastening
Two carriages (front and rear, non-handed) with lift device and

Carriages lever and rings.The connection between the two carriages Screws

kit XC Carriages 0 is provided by the through cuttable rod. The hooking of the Steel Sash weight < 250 Kg 45435 mm

S-i_ine connecting rod is guaranteed by locking grubs with milled base ’

250 Kg to avoid possible Ioosening.l . . '

Compensator e The adapters allow the carriages assembly on 18 and 22 mm Plastic Use to install the carriages on Ci
adapters millings. material 18 and 22 mm millings P

Supplementary carriages Two carriages with Igver lifting device anq guides‘. Each parriage . Screws

Kit XC S-Line 400 kg 9 has to be coupled with one of the XC S-Line carriages kit (front Steel Sash weight > 250 Kg and < 400 kg 45x35 mm
and rear) by connecting rod and fastening grubs. '

Connecting rod o 1: aennssf:[fsest ;29 nf;::sztri]ct)r; fbstwegn /alcarriage and the other and Steel Cut 1 piece Grqgsd

pening/closing. provide

It allows to download the carriage weight from the sash to the Plastic

Stop / support 6 snap-in rail; suitable for aluminium systems where the sash material 1 for each carriage Snap-in rail
weight in closing position can’t be downloaded to the gaskets.

Rod guide 0 Inserted into the carriage milling, it ensures the correct operation | Plastic 1 for each sliding sash. Screws
of connecting rod. material Do not use on 16 mm width milling. 4x30 mm
Dedicated zamak device that prevents the carriages derailment Install 2 blocks on each central sash; install Serews

Anti-derailed adapter 0 of the sliding sash after orthogonal pushes on the sliding axis Zamak 1 block on each side sash. 4x30 mm
(for example weather agents). Do not use on 16 mm width milling.

Note. Level the glass in order to download the weight evenly in correspondence to the carriages.
Note. Please don't distribute the supplementary carriages along the sash but install them coupling the main carriages.

~
=
[ee]
—
©
~

N

oo

IEEEEI]
IEEERI

Fastening grub for
carriages connecting rod

4 mm Allen Key

45¢35 N\
4,5x35
Dtrtiteetrre S
4,5x35
s Nii
4,5x35
trtiteetrire
4,5x35
s

E%@ S =] Eﬂ —_ D —— | Toll —=
12 54 12

}" (13 1[o] Tgn ) Il i | 1 [o] o[ 3 Il i
12 54 12

Millings for carriages housing

No adapter 18 mm adapter 22 mm adapter

- ~

45 S L
45 S L
35 ===

Ver. 02 - Rev.22.09.2020 00.13




L&S XC - Wood Sliding systems

250 kg XC S-Line carriages kit, 400 kg XC S-Line
supplementary carriages kit, XC carriages connecting rod

Compatibility

7 7 7 7
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, Z (7772727777777 Bl or threshold

L=LB-575

Supplementary carriage positioning

Note. For the connection of the
supplementary carriages,
please cut a 80 mm rod.

Application fields
Length of 400 K
gl 250 Kg . g
connecting rod (with supplementary carriages)
Min. SW Max. SW Min. SW Max. SW
1000 1575 1990
1400 1975 2390
1800 580 2375 1160 2790
2700 3275 3690
Ref. Description Code Length Ref. Description Code Length
(1) 250 kg carriages kit G04109.00.00 (5) Bumper - support G02142.00.XX -
9 400 kg supplementary carriages kit | G04110.00.00 0 Rod guide (G05104.00.00 -
G04601.00.01 1000 (7] Anti-derailed device G01611.01.00 -
Carri nnecting rod G04601.00.02 1400
amage conneeing 1o G04601.00.03 1800
G04601.00.04 2700

00.14 m Rev.22.09.2020 - Ver. 02



L&S XC - Wood

Sliding systems

Pin holder profile for lateral point

Article Description Material Use Fastening
Pin holder profile in anodised aluminium with Lateral ooint of LiftaSlide
Pre-drilled locking profile suitable holes for pins housing. Aluminium p 4,5x45 mm screws

Caps for unused holes.

systems coupled to the lock.

Qe

Assembly of pre-drilled profile

- | .45xd45 o A
| I 4 5x45 o
i ) {Igm _
R R
& &
g i § 4
R | _a5us )
L y U vy U m )
GR2 GR1 GRO ‘r_
EEH Screw holes position =55 Tl < Q//
GR 1° 2° 3° 4° 5°
0 48 748 1448
1 48 748 1448 2148 2718 N
2 160 730 1430 2130 2830
T T 2 J ,
N n
N\ [ /
B )
% il X || 7o\
777 //f\ L \
Position of locking points
GR Pin holder profile height A B c
0 1778 450 850 -
1 2878 980 1450 | 1600
2 2878 980 2000
Article GR Arlt|cle.code, . Article code, Length SH
in Silver in Electrocolour
0 |For lock GR1 and GR2 G01341.00.01 G01341.00.02 1778 800-1800
Pre-drilled locking profile For lock GR3 and GR4 (G01341.01.01 G01341.01.02 2878 1770-2900
2 |For lock GRS (G01341.02.01 G01341.02.02 2878 1770-2900

- Rev.22.09.2020

AG B/

00.15



L&S XC - Wood

Sliding systems

Anti-burglar plate kit, handle fastening plate

Anti-burglar plate

e

-+ screw

=)

N

Article Ref. Description Material Use Fastening
' —_ For anti-burglar security, if you don't use the .
Anti-burglar plate 0 It protects the lock from burglary. Anti-drill steel double handle. Joint to the lock
It allows a strong handle fastening ;ﬂéi?elrzzrgﬁ:l?zz(ﬂgfasmnmg’ if you don't use
Handle fastening plate Q :;t:(;zt external handle and pull Steel Place the plate in the intemal side of the lock On handle screws
' milling.
1,5 25 1,5 25
e —
N "~ 7| ws-MO
&) e
+ - N - |\
| P
OQT < /
= =
8l | =8 sl =8 W
o W
¢ <4
2:5 ’ 2‘5 o
19,5 19,5

'_'\./‘_'_'_'—

Handle fastening plate

Handle fastening
screw

Ref. Article Article code
o Anti-burglar plate G05004.00.00
Ref. Article Article code Detail
6 Handle fastening G05371.M5.00 Thread M5
plate G05371.M6.00 Thread M6
00.16 Rev.22.09.2020 -




L&S XC - Wood Sliding systems

Locking profiles for lateral point and extension

Article Description Material Use Fastening
0 Pre-drilled locking profile . o . » . ) )
(2 suitable seats) Is_t(;ﬁ(kelpsg profile in anodised aluminium with suitable holes for housing the hook
(2] Pre-drilled locking profile Note. Not suitable for striker with signal system.
(3 suitable seats) . On lateral point of ¢
Pre-driled locking profile Locking profile in anodised aluminium with suitable holes for housing the hook | Aluminium - liftdslide ~ systems, | , gyss’ o
€ | (3 suitable seats, the one in the strikers. coupled to the lock
middle for striker with signal system) | Note. The central housing is suitable for striker with signal system.
. ' ’ Installed above the locking profile, it allows the extension of the application field
o Locking profile extension and the addition of a locking point.
| . .
(T \ Pre-drilled profile assembly
41,6 ' ] B 1 |
¢ ¢ ¢ 2 <~
o 0 o 3} BT PR i !
— e e T = |
" | | | /L
| | |
A < - T T il
g 4| 1| T L
N | |
4,5x45 ) ) O
g : : [ °| ’
0T ) | 45145 ) o ) 4 ) o
i J:m&ééé:q ° ‘ o ©
R R S !
] & 4 & T ' '
| o i o
el |n il
] |
< -+ T
| | | ' [
H [ ( W |
i @ 1|
U U < r | | i
| | ]
T ’7* - ; i
Locking points position | ' < < g/
Locking profile c 4,5x45
GR . A B .
height (min - max) I
3 2878 1354 - 1789,5+2137,5 H m m
1 2 2878 1504 | - [ 1939,5+23875 L L L
5 2878 1904 - 2339,5+2737,5 | | |
0 3 2878 970 | 1354 | 1789,5+2137,5 ! ! !
4 2878 970 | 1504 | 1939,5+2387,5 I N | |
5 2878 970 | 1904 | 2339,5+2737,5 4545 T8 8 8 J |
3 2878 10426 | 1354 | 1789,5+2137,5 @ [@ [@
0 4 2878 10426 | 1504 | 1939,5+2387,5 G
5 2878 10426 | 1904 | 2339,5+2737,5 §// il . L - L 0\
77772, v Ty Ty \
Article code Article code Sl @ iti
Article GR e | ' | Length SH seats for Screw holes position
in Silver in Electrocolour ;
striker GRI| 1° | 22 | 3°| 4° | 5°
- ; ) 3 | G01359.03.01 | G01359.03.02
o pregnueg Itc:lcklng tproflle 4 | G01359.04.01 | G01359.04.02 | 2878  |1770-2900 2 @ | 3 | 48 | 7481448/2148|2718
evompers | OB SRR EIEREIETETT
(2] Pre-grled locking profle 4 | GO1359.14.01 | GO1359.14.02 | 2878 |1770-2900| 3 © | 5| 48 | 748 1448|2018 2718
(3 suitable seats) 5 | G01359.15.01 | G01359.15.02 O s 338 -
Pre-drilled locking profile 3 G01359.23.01 | G01359.23.02
© | (3 suitable seats, the one in the middle| 4 [ G01359.24.01 [ G01359.24.02 | 2878  |1770-2900 2+1
for striker with signal system) 5 (G01359.25.01 | G01359.25.02
0 Locking profile extension - G01360.01.01 | G01360.01.02 500 | 2900+500 1

Ver. 01 - Rev.22.09.2020 m 00.17



L&S XC - Wood

Sliding systems

Pin holder profile for coaxial sashes and extensions

Article Ref. Description Material Use Fastening
ol . Locking profile in anodised aluminium with pre-

CF:SXI.al pin holder profile kit o assembled anti-burglar pins.

with pins Lower and upper sealing caps. Screws 4,5x60 mm.
Locking profile in anodised aluminium with pre- L .

Coaxial pin holder profile kit 9 assembled anti-burglar pins (one of them with A'“m'”'“"?’ with steel For coaxial sashes. The positions of screw holes

with ventilation position ventilation position). pins. match exactly the free screw
Lower and upper sealing caps. holes of the lock.

Extension of locking profile for e Extension for locking profile for with or without

coaxial sashes pin.

Note. For use with embedded upper guide, please cut the profile all the way up and don’t use the upper cap contained in the kit.

/& 2

/&

2690

Profile section
=]
il -
HE—
I
=~i= =~i= =i= £ [T ==
b - be | S35 S .
TS T TES— ] TE-
o
[o2)
o HEn—
N vy
o
NG
~
o
I
- e I R - R
GR4 GR3 GR2 GR1 GR5

2340

Profile section

0

1140

I
B
o 4l
B | -hE

(=3

D

o

N

(=]

N

~

=
O 1|y 1
HEE |-
GR3 GR2

GR1

500

342
1000

Profile section

ENNE

00.18

Rev.22.09.2020 - Ver. 02




L&S XC - Wood Sliding systems

Pin holder profile for coaxial sashes and extensions

Profile assembly

for coaxial sashes Note. Only for L&S XC

Il
— — 2
% J
4 /
\ | 4 5x6(0 L? /
45x80 \
| .4,5%60 °
(&)
| .4,5%60 °
p— b 7 Position of locking points
4,5x60 -
Pin holder A B c
o m profile height
y 9 ) GR1 1140 450 974
e o GR2 1740 850 - 1374
50 Ce GR3 2090 980 1450 1974
2 < 2 GR4 2340 980 1600 2124
\g 3 GR5 2690 980 2000 2524
4,5x60 o
- ¢ == screw holes position
1™ 4,5x60 { © GR | 1° 2° 3° 4° 5° 6° 7° 8°
1 ] 128 | 236 |292,5| 508 | 578 | 686
| 1 @ § J / | 2 | 128 | 236 |292,5| 508 | 978 | 1086
_ 5 ,/' 3 | 128 | 236 | 836 | 892,5| 1108 | 1216 | 1578 | 1686
= [0 Qf e 4 | 128 | 236 | 836 8925 | 1108 | 1216 | 1728 | 1836
/o m \ N o\ 5 | 128 | 236 | 836 |892,5| 1108 | 1216 | 2128 | 2236
777777774, W/)\ U \
. Article code, Article code, : . Article code, Article code, ;
e AR @R in Silver in Electrocolour Height Bl R ALY eI in Silver in Electrocolour Height SRH 0
1| G01361.01.01 | G01361.01.02 | 1140 | 810-1200 Coaxial pin 1 | G01340.01.01 | G01340.01.02 | 1140 | 810-1200
Coaxial pin | 2 | G01361.0201 | G01361.02.02 | 1740 | 1175-1800 holder profile| 2 | G01340.02.01 | G01340.02.02 | 1740 | 1175-1800
o holder profile| 3 | G01361.03.01 | G01361.03.02 | 2090 | 1775-2150 0 kit with 3 | G01340.03.01 | G01340.03.02 | 2090 | 1775-2150
kitwith pins | 4 | G01361.04.01 | G01361.04.02 | 2340 | 1925-2400 ventilation | 4 | G01340.04.01 | G01340.04.02 | 2340 | 1925-2400
5 | G01361.05.01 | G01361.05.02 | 2690 | 2325-2750 position 5 | G01340.05.01 | G01340.05.02 | 2690 | 2325-2750
Ref Artic Article code, Article code, Lenath O With upper guide 22x22 cod. G01002.XX.XX, the SRH application field will be
e e in Silver in Electrocolour eng reduced up to 10 mm.
9 Extension with pin (G01361.97.01 G01361.97.02 500
Extension without pin | G01757.00.01 G01757.00.02 1000

Ver. 02 - Rev.22.09.2020

AG B/

00.19



L&S XC - Wood

Sliding systems

Locking profile kit with 3 hooks for coaxial sashes and
specific extension

Article

Ref.

Description

Material

Use

Fastening

Locking profile kit for coaxial
sashes

sealing caps.
Note. Strikers are included.

Locking profile in anodised aluminium with
housing for hooks strikers. Lower and upper

Note. The housings are not suitable for the striker

Aluminium, with
zamak strikers and

For coaxial sashes

Screws 4,5x60 mm.

The screw holes positioning
of the profile match exactly

with signal system. rubber caps the screw holes of the second
Locking profile extension for e Extension for locking profile. :‘?gg with hooks which are
coaxial sashes. Note. Pre-assembled striker. )
Locking profile extension for 0 Locking profile extension. Aluminium For coaxial sashes Screws 4,5x60 mm.

coaxial sashes.

Note. Couple to hooks lock; don’t use with pins lock.
Note. Compulsory in case of coaxial sashes; it is not possible to use single strikers and wooden listel.

L]

i
1

i
1

2690

i
1

-
1r

2340

==l
[

I
i

Profile section

EEBE|

j°o (== o

2090

}
/o (:{:) °
"

I
It

d

° (=
=

Profile section

(@MBE

3
[

1000

500
B

GR3

00.20

Rev.22.09.2020 - Ver. 03




L&S XC - Wood Sliding systems

Pin holder profile with 3 hooks for coaxial sashes
and specific extensions

Profile assembly

for coaxial sashes Note. Only for XC L&S with hooks.

L] 1

' 5 7

/ 4\ o %’

= | _4.5x60 o 7
el
;
‘:i:’
__; ne0 ° ]

N 4.5%60 N

Rt |

> ©

(==
==

=50

\
o, 0
I
¢

| 4,5%60 ]

i
C

7

| 4560

|| __45x60

T
B
n T_H T,

AG B/

) < {
Locking points position
4,5x60
L st ° Profile height A B ¢
4,5x60 To=r (min - max)
| et o GR3 2090 970 1354 | 1789,5+21375
m GR4 2340 970 1504 | 1939,5+2387,5
N ﬁ GR5 2690 970 1904 | 2339,5+2737,5
*J
L
< te
] = == screw holes position
K [@ N : ! GR| 1° 20 30 40 5o 6° 70 g°
W - 724 3 | 128 | 332 | 836 |892,5| 1108 | 1302 | 1486 | 1686
Sl L = o 4 | 128 | 332 | 836 |892,5| 1108 | 1302 | 1636 | 1836
- \ A
;WiLW/\ | \ 5 | 128 | 332 | 836 |892,5| 1108 | 1302 | 2036 | 2236
. Article code, Article code, .
Ref.|  Afie \GR| " aier | inElectrocolour | 69N [ SRHO
o G01373.13.01 | G01373.13.02 | 2090 | 17752150
S;’;‘if;'d't“k'"g G01373.14.01 | G01373.14.02 | 2340 | 1925-2400
G01373.15.01 | G01373.15.02 | 2690 | 23252750
Extension with G01364.01.01 | GO1364.01.02 | 500
striker
Extension G01757.00.01 | G01757.00.02 | 1000 O With upper guide 22x22 cod. G01002.XX.XX, the SRH
without striker application field will be reduced up to 10 mm.
Ver. 03 - Rev.22.09.2020 00.21



L&S XC - Wood

Sliding systems

Locking pins

Article Ref. Description Material Use Fastening
Locking pins 0 Steel threaded pins.
210 mm pre-hole for soft wood.
Anti-burglar locking pins @ Steel threaded pins. 211 mm pre-hole for hard wood.
Fasten the pin using the suitable
Fastened to the jamb of hook G00746.00.06.
th_e- f rame, they block the Attention: don’t use the hammer as it
Steel sliding sashes. They are

available for wood or PVC

will compromise the pin tightness.

Threaded pin with double locking and aluminium.
Pin with ventilation position o position. It allows to close the sash to Note. To determine the placement of
the frame with a split for ventilation. locking pin, please use the jig
art. G00746.00.05
(see the chapter “Jigs’).

40,5

55,5

20

475

M.12

(2]

Locking pins for wood

Anti-burglar locking pin
for wood

40,5

24

M.12

I

3]

Locking pin with
ventilation position

10 mm hole for soft wood
11 mm hole for hard wood

—
—

Example of application on wooden systems for layouts A-B-C-D-F-G

N

—

10 mm hole for soft wood
11 mm hole for hard wood

—

—

RN

i

Ventilation for PVC /
Aluminium-wood / Wood

Ref. Description Article
(1) Wood G40728.00.03 *
(2) Anti-burglar for wood G40728.00.33

(G04902.01.00 *

* Note. Not included in the standard kit
(to be ordered separately).

00.22

Rev.22.09.2020 - Ver. 01




L&S XC - Wood

Sliding systems

Strikers

Article Ref. Description Material Use Fastening
Striker for hook o Adjustable locking point Zamak Screws 4,5x45 mm
Connected to a control device, it allows to find the
Striker for hook with signal system | @) Adjustable locking point with Zamak hook position. Screws 4,5x45 mm
9 Y control device of hook position Note. It can't be applied to coaxial sashes profile. '
Note. It isn’t compatible with microventilation hook.
e 12 13 S
0 i ‘f’\;\,_ 9 B
20 S / 20
198 NN 1 198
1 , | § ™ -~ ‘
N T A - N\ } oV -
i ‘ NN S el ]
© 3 AN 2 © S i
& |
—1— 1 = ‘
2|2 3 7 ® L0 =
u 36,5 H 8 % :
& 15 8| 1
@ | o © !
o o Ot | B
© |
- N _l
o N I
Additional milling for e Y
hook with L
microventilation -
Microventilation hook application Hook application Hook application on standard striker
(not possible with signal system) on standard striker (with signal system)
4 4
B i
-~ — - _ 1
Ref. Description Article
0 Striker for hook G06201.00.01 G06201.00.02
0 Striker for hook with signal system (G06203.00.01 (G06203.00.02

- Rev.22.09.2020

00.23



L&S XC - Wood Sliding systems
Embedded upper guide 22x22
Article Ref. Description Material Use Fastening
Guide for sliding gliders of the sliding sash, Insert in the dedicated millin
Embedded upper guide 0 compatible with AGB systems of closing/ Aluminium of the frame uoper transomg 4x25 mm screws.
opening brake. PP )
=
=TT e 3
,/J\ v
\‘/
3 .
[Se} /,/\ ‘‘‘‘‘‘ _
- v \
/ \
22 i
,/J\,, " / «——> \
\‘/ 4 /r \
/l A \‘
- | ;
T \ |
i ] \ /
> \ !
\ v |
o
S
,/J\,, v
\‘/
o
8
,/J\,, A,
\‘/
3
Ref. Article Ar‘luclel code, ‘ Article code, X
in Silver in Electrocolour
G01002.01.01 G01002.01.02 3000
G01002.02.01 G01002.02.02 4000
0 Embedded upper guide G01002.03.01 G01002.03.02 5000
G01002.04.01 G01002.04.02 6000
G01002.05.01 G01002.05.02 7000

00.24

A G B

Rev.22.09.2020 -




L&S XC - Wood

Sliding systems

Caps kit for embedded upper guide 22x22

Article

Ref.

Description

Material

Use

Fastening

Rear lower cap

It covers the carriages milling of the lower
transom.

Plastic material

It covers the sash lower
milling.

3,5%x20 mm screws.

Cover

Cover for the lower cap and the rear bamper
glider.

Plastic material

It covers the lower cap and
the fastening of the upper
rear glider.

Snap-in

Cap to be inserted between the locking profile

Shaped cap for upper guide and the quide. Rubber To be jointed. To be inserted with

Shaped cap for lower rail To guarantee the system tightness. Rubber Apply under the profile. with silicone.
silicone on the back.

Device for frame guide Rebate for the glider pad or for the damper. Zamak To be placed af‘d fastened 4x45 mm screws.
into the upper guide.

Glider fastening hold-device and Mechanical block of the glider. Zamak Fasten using front and rear 4x30 mm screws.

damper

caps as ajig.

Front cap with reference glider

Sliding glider and closing brake.

Plastic material /

zamak / steel

To fasten the sash in opening.

4x30 mm screws.

Damper kit with closing brake

Q0@ &6 60 © ©

Sliding glider and opening brake.

Plastic material /

zamak / steel

To fasten the sash in opening.

4x30 mm screws.

17

17 BN
15 15

T\

12

12

110,5

26

52

26

10,5
38,5

24,7

44,7

N
-
©

44
338
298 (1)
[ce]
w0
=
S

/U

12,5

35

21,6
75}
)
v
T y—
7o
N4
o
| —| &
)
ﬁﬂ w0
~
“ J[ -
ol o
39

42

[ﬂ o
—
\ 3 =
7’ A .
Sl [5)
L0
A AR
L] | & =
I QO
10, 2 |10
42

- Rev.22.09.2020

A G B

00.25




L&S XC - Wood Sliding systems

Caps kit for embedded upper guide 22x22

Installation of upper and lower cap - \ P
' \ = e
/ \ Milingonthe ! \
\ transom ! \
: [ 8\
/ | 22 1
{ R —
L 22 .
\ o ]
Milling on \ IS
the sash — y —
—\
/
Cover installation Cover installation
[ N e L = on upper cap on lower cap
N [ EEERES / |

/‘ ——

q ..

sl | <o) e e

2xLB - 2xSMA - 29

Installation example on layout A with
external and internal pull handle

Installation example on layout A with
internal pull handle

LBF - LB + SMA + 34

7 e et N S W ST~ N
( \ | [ I J | /
e i p— - e = — I
Installation example on layout E with 0 0 6 0

external and internal pull handle

__L J _1il R [ d_ -
L L -—L N J_
LBF - LB +34 LBF - LB +34

AT T T T~ N ) T~
= N T — . S — 1
77777777 Installation example on layout E 0 @W””W@ 0

with internal pull handle

00.26 m Rev.22.09.2020 -



L&S XC - Wood Sliding systems

Caps kit for embedded upper guide 22x22

i

g
H—b 4@

ﬂ Using the glider/s as a jig, fasten the hold device/s into the sliding sash, not installed yet; then, remove the caps;
@ Place the device/s in the right position indicated in this technical documentation;

Q Place the sash in vertical position;
0 Fasten the gliders on the sliding sash.

Article Grey RAL 7035 Black

Caps kit for embedded upper guide 22x22 (G00232.00.86 (G00232.00.93

- Rev.22.09.2020 m 00.27




L&S XC - Wood Sliding systems

Damper kit with closing brake

Article Description Material Use Fastening

Ref
0 Plastic material /

Front cap with damper Sliding glider and closing brake. zamak | steel To stop the sash in opening. 4x30 mm screws.

It allows the damper activation in To be applied under the

Magnetic contrast 9 openin Steel contrast as a guide if you use 4x45 mm screws.
pening. the brake.

Device for frame guide 0 E:r?]zfrfor the glider pad or for the Zamak - 4x45 mm screws.

17

15

®

H B 3

i i l

10,5

/ / &
146 o <D
&
JAl1s
| 5235 ==

Q @
®

%

15,5

] ©EBO—1 = 1 T &l
" N e
12,5 22 10 10 ” 10
445 4 i

155

Note. Using the opening and closing brake in the same moment, the minimum SRW is 1100 mm.

00.28 m Rev.22.09.2020 - Ver. 01




L&S XC - Wood Sliding systems

Damper kit with closing brake

o]
i)

Place the device/s in the right position indicated in this technical documentation;
Place the sash on the rail with the carriages in opening position;

Place the sash in vertical position;

Fasten the gliders on the sliding sash.

COOS,

Article Grey RAL 7035 Black
Loading capacity 80-200 kg (G00232.11.86 G00232.11.93
Loading capacity 200-440 kg G00232.12.86 (G00232.12.93

Ver. 01 - Rev.22.09.2020 m 00.29



L&S XC - Wood

Sliding systems

Damper kit with opening brake

Article

closing/opening.

Ref. Description Material Use Fastening
Rear cap with glider as a guide o Sliding glider and opening brake. Pf:;'}g?f:;g' / To fasten the sash in opening. 4x30 mm screws.
It allows the damper activation in To be applied under the
Magnetic contrast 9 Steel contrast as a guide if you use 4x30 mm screws.

the brake.

=
%
O E
. S
10 24 10
44

D GED €

1
o)
W
17

12,5 22 10

45

¥ \
! !
/1 i

Bl =

=

i

\

146 (1)
35,
5035 \

2xLB - 2xSMA - 220

Installation example on
layout A with internal and
external pull handle

LBF - LB + SMA + 225

Installation example on layout E with
internal and external pull handle

Note. Using the opening and closing brake in the same moment, the minimum SRW is 1100 mm.

00.30

Rev.22.09.2020 - Ver. 01



L&S XC - Wood Sliding systems

Damper kit with opening brake

Place the device/s in the right position indicated in this technical documentation;
Place the sash on the rail with the carriages in opening position;

Place the sash in vertical position;

Fasten the gliders on the sliding sash.

COOS,

Article Grey RAL 7035 Black
Loading capacity 80-200 kg G00232.13.86 (G00232.13.93
Loading capacity 200-440 kg G00232.14.86 (G00232.14.93

Ver. 01 - Rev.22.09.2020 m 00.31




L&S XC - Wood

Sliding systems

Central point kit Uni-V mini

Article Ref. Description Use Fastening
lgsal;?:ngs_um'v Mini central point has many a) cut the components (follow the indications of the
Uni-V Mini profile 0 it binds thé sashes in closing position; technigal manual according to the lift&slide type to
- it helps the lift&slide production because it b) ﬁzgristlr?:ei)sjket
Standard central point designed | does not require gasket profiles for rebate o) insert the ?erminél cans
for the application in all the AGB | - it helps the system tightness thanks to the Y h fil P Yh . 35x3
lift&slide systems increased gasket ) 'asten the profi es t Sasnes USing SCrews o 19x35,
' _it helos the sashes sliding thanks to areat e) insert the covering profiles of screws and the brush,
Caps kit 6 workiz folerances whigh are ablg o f) silicone and cut following the indications of the
com e?]sate the natural deformations of dedicated technical manual which concerns the
woog lift&slide type to be designed.
Materials With upper lockin
profile, remove
1) EPDM gasket the cap part
2) PVC screws covering profiles 3{’ CXD
3) Extruded aluminium profiles 1 < 1
4) Polypropylene brush ‘ ﬂ"—\_r“ ’U-d
. A _
v With upper lockin
] profile, remove
. the cap part X !
“ig | N
=N ‘
+ X H
o ‘
b oo |
@K\ |
CS\a\
@ Y
""""""" A Insert and let the
- T T T - gasket slide from one
edge of the profile
Ref. Article Article code Length
G02211.25.01 2500 mm
G02211.25.93 2500 mm
. o ) G02211.31.01 3100 mm Ref. Article Article code
@ | uni-v vinipointprfile s | 3100 mm . G01623.DX.93 Right
0 Caps kit
G02211.40.01 4000 mm G01623.5X.93 Left
G02211.40.93 4000 mm

00.32

Rev.22.09.2020 - Ver. 01




L&S XC - Wood

Notes

- Rev.22.09.2020 m 00.33



Alban Giacomo spa

Headquarters:
Via A. De Gasperi, 75
36060 Romano d’Ezzelino (VI) - Italy
Tel. +39 0424 832832
www.agb.it - info@agb.it

MADE IN ITALY

The supplied data and pictures are to be considered valid saving any printing error or modifications introduced by the manufacturer.



